
 

 

এক্সিম ব্যাংক ট্রেইক্সি অক্সিসযর পরীক্ষযর প্রশ্নের সমযধযি ২০২০ 
পূর্ণমযি: ৪০ 

পরীক্ষযর তযক্সরখ: ১০ জযিুয়যরী ২০২০ 
 
 এক্সিম ব্যাংক ট্রেইক্সি অক্সিসযর ক্সিশ্নয়যগ পরীক্ষয এবাং অি্যি্ সকল চযকক্সরর মূল প্রশ্নের অশ্নেিক্সিক ট্ররিযশ্নরন্স সহ 

ব্যখ্য ট্রেখশ্নত Live MCQ অ্যযপ ক্সি ইন্সিল করুি। Live MCQ App এর Premium Section এ েযকয 
Central Job Solution বযিি ট্রেশ্নক মূল প্রশ্নের অশ্নেিক্সিক ট্ররিযশ্নরন্স সহ ব্যখ্য ট্রেশ্নখ ক্সিি। 
 

 Question Analytics: Live MCQ অ্যশ্নপ ট্রকযি চযকক্সরর মূল পরীক্ষযর প্রশ্নের উপর লযইভ পরীক্ষয ট্রিওয়য 
হশ্নল উক্ত পরীক্ষযয় অাংশগ্রহর্কযরীশ্নের মধ্ ট্রেশ্নক সক্সিক উত্তরেযতয ও ভুল উত্তরেযতযর হযর এবাং উত্তর িয করয 
পরীক্ষযেণীর হযর ট্রেশ্নক Question Analytics গর্িয করয হয়। যয ট্রকযি প্রে: কতিয সহজ, বয ট্রকযি প্রে: কতিয 
কক্সিি এবাং কিক্সিউক্সজাং এই সম্পশ্নকণ Live MCQ App ব্যবহযরকযরীশ্নের মশ্নধ্ একিয ধযরিয ততক্সর হয়। 

================================ 
প্রে ১. Q. 01- 05: Select the word(s) that 
appropriately fill(s) in the gap(s) in each 
sentence. 01. Although the leader's life was 
both _______ and painful, it was not 
without ______ for he had accomplished 
many of his goals. 
ক) magnificent, success 
খ) thrilling, ambition 
গ) happy, frustration 
ঘ) arduous, satisfaction 
ঙ) good, damage 
সক্সিক উত্তর: ঘ) arduous, satisfaction 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 15%, 
ভুল উত্তরেযতয: 34%, উত্তর কশ্নরিক্সি: 49% 
ব্যখ্য: • প্রশ্নে উশ্নেক্সখত অপশি গুশ্নলযর মশ্নধ্ -  
ক) 
magnificent - জযাঁকজমকপূর্ণ; উশ্নেখশ্নযযগ্; চমকপ্রে। 
success -  সযিল্; সিলতয; ক্সসক্সি; চক্সরতযেণতয; 
কৃতকযযণতয; কৃতকৃত্তয 
খ) 
thrilling - চযঞ্চল্ 
ambition -  তীব্র আকযঙ্ক্ষয; উচ্চযকযঙ্ক্ষয 
গ) 
happy - ভযগ্বযি; সুখী; তৃপ্ত 
frustration - ক্সবিলীকরর্; ক্সবিলীভবি; আশযভঙ্গ; 

ব্েণতয; ক্সিষ্ফলতয; তিরযশ্; হতযশ। 
ঘ) 
arduous -  েুুঃসযধ্; কষ্টকর। 
satisfaction - সশ্নতযষ; সন্তুক্সষ্ট; পক্সরশ্নতযষ; পক্সরতুক্সষ্ট; 
পক্সরতৃক্সপ্ত; সশ্নতযষসযধি; চক্সরতযেণতয 
ঙ) 
good -  ভযশ্নলয; তুক্সষ্টকর 
damage - ক্ষক্সত; হযক্সি; ট্রলযকসযি। 
সুতরযাং, ট্রবযঝয যযশ্নে ট্রয, context অিুসযশ্নর শূি্স্থযশ্নি 
arduous, satisfaction শব্দশ্নজযড়য বসশ্নল বযশ্নক্র অেণ 
পূিণতয পযশ্নব।  
- কযরি প্রেম শূি্স্থযশ্নি এর পুশ্নবণ both েযকযয় ট্রবযঝয 
যযয় ট্রয এখযশ্নি painful এর ট্রকযি সমযেণক শব্দ বসশ্নব 
এবাং এরপশ্নরর সন্তুক্সষ্ট ছযড়যই অশ্নিক কযজ সম্পযেি 
কশ্নরশ্নছি অশ্নেণ satisfaction বসশ্নব। 
Complete sentence: Although the leader's 
life was both arduous and painful, it was 
not without satisfaction for he had 
accomplished many of his goals. 
Bangla Meaning: যক্সেও ট্রিতযর জীবি কক্সিি এবাং 
ট্রবেিযেযয়ক ক্সছল, তশ্নব এক্সি সন্তুক্সষ্ট ছযড়য ক্সছল িয কযরর্ 
ক্সতক্সি তযর অশ্নিক লক্ষ্ অজণি কশ্নরক্সছশ্নলি। 
Source: Bangla Academy Dictionary. 
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প্রে ২. Since the lady's face was free of 
_____ there was no way to _____ if she 
appreciated what had happened. 
ক) scars, understand 
খ) emotion, diagnose 
গ) Expression, ascertain 
ঘ) make-up, realize 
ঙ) None of these 
সক্সিক উত্তর: গ) Expression, ascertain 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 19%, 
ভুল উত্তরেযতয: 25%, উত্তর কশ্নরিক্সি: 54% 
ব্যখ্য: • প্রশ্নে উশ্নেক্সখত অপশি গুশ্নলযর মশ্নধ্ -  
ক) 
scars - ক্ষতক্সচক্সিত হওয়য; েযগ ট্রেওয়য; ক্সবক্ষত করয 
understand - ট্রবযঝয; বুঝশ্নত পযরয; প্রক্সর্ধযি/উপলক্সি 
করয 
খ) 
emotion - আশ্নবগ; অিুভূক্সত 
diagnose - লক্ষর্ ট্রেশ্নখ ট্ররযগক্সির্ণয় 
গ) 
Expression - প্রকযশ; অক্সভব্ক্সক্ত; প্রকযশ বয 
অক্সভব্ক্সক্তর উপযয়, শব্দ বয কেয 
ascertain - ক্সিক্সিত করয; ক্সিধণযরর্ করয; ক্সিরূপর্ করয; 
ক্সস্থর করয 
ঘ) 
make-up -  প্রসযধি। 
realize - উপলক্সি/হৃেয়ঙ্গম করয। 
- সুতরযাং, ট্রবযঝয যযশ্নে context অিুসযশ্নর শূি্স্থযশ্নি 
Expression, ascertain শব্দশ্নজযড়য বসশ্নল বযশ্নক্র 
অেণ পূিণতয পযশ্নব। 
- Complete Sentence: Since the lady's face 
was free of expression there was no way to 
ascertain if she appreciated what had 
happened. 
- Bangla Meaning: ট্রযশ্নহতু ভদ্রমক্সহলযর মুখক্সি 
অক্সভব্ক্সক্তহীি ক্সছল তযই ক্সতক্সি যয ঘশ্নিশ্নছ ট্রসিযর প্রশাংসয 
কশ্নরশ্নছি ক্সকিয তয ক্সিক্সিত করযর ট্রকযি উপযয় ক্সছল িয। 
Source: Bangla Academy Dictionary. 

 
প্রে ৩. Sakib's _______ background has made 
him so docile. 
ক) humble 
খ) rich 
গ) advanced 
ঘ) lucrative 
ঙ) sound 
সক্সিক উত্তর: ক) humble 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 22%, 
ভুল উত্তরেযতয: 27%, উত্তর কশ্নরিক্সি: 50% 
ব্যখ্য: • প্রশ্নে উশ্নেক্সখত অপশি গুশ্নলযর মশ্নধ্ -  
ক) humble - ক্সবিয়ী; িম্র; ক্সবিম্র; ক্সবিীত; ক্সিরক্সভমযি; 
ক্সবিয়িম্র 
খ) rich - ধিী; সম্পেশযলী। 
গ) advanced - অত্ত অগ্রসর 
ঘ) lucrative - লযভজিক, আক্সেণকভযশ্নব ট্রলযভিীয়। 
ঙ) sound - স্বযস্থ্কর; স্বযস্থ্পূর্ণ; ভযশ্নলয অবস্থযয় আশ্নছ 
এমি; অক্ষত; অিুি. 
• প্রশ্নে উশ্নেক্সখত বযশ্নক্র Dolic শব্দক্সির অেণ - সহশ্নজ 
বশ মযশ্নি এমি; বযধ্; সহশ্নজ ট্রশখযশ্নিয যযয় এমি। 
- সুতরযাং, ট্রবযঝয যযশ্নে ট্রয, context অিুসযশ্নর 
শূি্স্থযশ্নি humble শব্দক্সি বসশ্নল বযশ্নক্র অেণ পূিণতয 
পযশ্নব। 
- Complete sentence: Sakib's humble 
background has made him so docile. 
- Bangla Meaning: সযক্সকশ্নবর িম্র অবস্থযি তযশ্নক 
এত ক্সবিয়ী কশ্নর তুশ্নলশ্নছ। 
Source: Bangla Academy Dictionary. 
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প্রে ৪. ______ my insistence to the contrary, 
Samrin ______ pursued her preferred line of 
action. 
ক) Despite, doggedly 
খ) According to, obligingly 
গ) Following, otherwise 
ঘ) In spite, nonetheless 
ঙ) None of these 
সক্সিক উত্তর: ক) Despite, doggedly 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 24%, 
ভুল উত্তরেযতয: 15%, উত্তর কশ্নরিক্সি: 60% 
ব্যখ্য: • প্রশ্নে উশ্নেক্সখত অপশি গুশ্নলযর মশ্নধ্ - 
ক) 
Despite -  সশ্নেও 
doggedly - একগুাঁশ্নয় ভযশ্নব, িযশ্নছযড়বযন্দয ভযশ্নব 
খ) 
According to - অিুসযশ্নর; মশ্নত 
obligingly - ট্রস্বেযয় সযহযয্ েযি কশ্নর এমি; 
পশ্নরযপকযরী 
গ) 
Following - পরবতণী, অিুগযমী, অিুবতণী ইত্যক্সে। 
otherwise -  অি্ভযশ্নব; ক্সভন্নভযশ্নব 
ঘ) 
In spite - সশ্নেও 
nonetheless - তেযক্সপ বয তয - সশ্নেও 
- সুতরযাং, ট্রবযঝয যযশ্নে ট্রয, context অিুসযশ্নর 
শূি্স্থযশ্নি Despite, doggedly শব্দশ্নজযড়য বসশ্নল 
বযশ্নক্র অেণ পূিণতয পযশ্নব। 
- Complete sentence: Despite my insistence 
to the contrary, Samrin doggedly pursued 
her preferred line of action. 
- Bangla Meaning: ক্সবশ্নরযক্সধতযয় আমযর ট্রজযর ট্রেয়য 
সশ্নেও শযরক্সমি তযর পছশ্নন্দর কযশ্নজ েৃঢ় ভযশ্নব অিড় 
ক্সছল। 
Source: Bangla Academy Dictionary. 
প্রে ৫. Although it _____ often buy, sell and 
operate subsidiaries outside of their home 
locations, it is important to try to 

understand how industries _____ particular 
localities. 
ক) is also true that firms, function within 
খ) is true that firms, function at 
গ) is true that firms, functions within 
ঘ) is true that firms, function within 
ঙ) None of these 
সক্সিক উত্তর: খ) is true that firms, function at 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 10%, 
ভুল উত্তরেযতয: 21%, উত্তর কশ্নরিক্সি: 67% 
ব্যখ্য: • ট্রকযশ্নিয একক্সি ক্সিক্সেণষ্ট এলযকযয় Business 
firm গুশ্নলয ক্সকভযশ্নব তযশ্নের কযযণক্রম পক্সরচযলিয কশ্নর 
তয ট্রবযঝযশ্নত - function within বশ্নস িয, function 
at বশ্নস। 
- Complete sentence: Although it is true 
that firms, often buy, sell and operate 
subsidiaries outside of their home locations, 
it is important to try to understand how 
industries function at particular localities. 
- Bangla Meaning: যক্সেও এিয সত্ ট্রয িযমণগুক্সল 
প্রযয়শই তযশ্নের বযক্সড়র অবস্থযশ্নির বযইশ্নর ক্রয়, ক্সবক্রয় 
এবাং পক্সরচযলিয কশ্নর, তশ্নব ক্সিক্সেণষ্ট এলযকযয় ক্সশল্পগুক্সল 
কীভযশ্নব কযজ কশ্নর তয ট্রবযঝযর ট্রচষ্টয করয গুরুত্বপূর্ণ। 
Source: Bangla Academy Dictionary. 
প্রে ৬. Q. 06 - 10: Choose the word which 
best expresses the OPPOSITE meaning of the 
given word. 06. EMBRACE 
ক) Disobey 
খ) Reject 
গ) Obscure 
ঘ) Contradict 
ঙ) Insult 
সক্সিক উত্তর: খ) Reject 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 21%, 
ভুল উত্তরেযতয: 23%, উত্তর কশ্নরিক্সি: 55% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
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প্রে ৭. 07. PROVOKE 
ক) Soothe 
খ) Anger 
গ) Encourage 
ঘ) Express 
ঙ) Ravenous 
সক্সিক উত্তর: ক) Soothe 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 23%, 
ভুল উত্তরেযতয: 26%, উত্তর কশ্নরিক্সি: 49% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
প্রে ৮. 08. ENORMOUS 
ক) Average 
খ) Weak 
গ) Tiny 
ঘ) Soft 
ঙ) Spacious 
সক্সিক উত্তর: গ) Tiny 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 42%, 
ভুল উত্তরেযতয: 9%, উত্তর কশ্নরিক্সি: 48% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
প্রে ৯. 09. RELINQUISH 
ক) Posses 
খ) Deny 
গ) Renounce 
ঘ) Abdicate 
ঙ) Experimental 

সক্সিক উত্তর: ক) Posses 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 14%, 
ভুল উত্তরেযতয: 17%, উত্তর কশ্নরিক্সি: 67% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
প্রে ১০. 10. GLOOMY 
ক) Adjudicate 
খ) Tragic 
গ) Disguising 
ঘ) Dispute 
ঙ) Bright 
সক্সিক উত্তর: ঙ) Bright 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 44%, 
ভুল উত্তরেযতয: 8%, উত্তর কশ্নরিক্সি: 47% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
প্রে ১১. Q. 11 - 15: In the following 
questions, choose the answer the best 
expresses the meaning of the underline part 
of the sentence. 11. Jeny visits the doctor off 
and on. 
ক) Occasionally 
খ) Regularly 
গ) Everyday 
ঘ) Never at all 
ঙ) Once in a week 
সক্সিক উত্তর: ক) Occasionally 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 35%, 
ভুল উত্তরেযতয: 13%, উত্তর কশ্নরিক্সি: 51% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
প্রে ১২. I have a bone to pick with mita in 
this matter. 
ক) Will join hands 
খ) Am angry 
গ) Am in agreement 
ঘ) Am indebted 
ঙ) Will confide 
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সক্সিক উত্তর: খ) Am angry 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 14%, 
ভুল উত্তরেযতয: 23%, উত্তর কশ্নরিক্সি: 61% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
প্রে ১৩. There was no opposition to the new 
policy by the rank and file of the 
government. 
ক) The ordinary members 
খ) The cabinet ministers 
গ) The parliament 
ঘ) The majority 
ঙ) The opposition 
সক্সিক উত্তর: ক) The ordinary members 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 19%, 
ভুল উত্তরেযতয: 20%, উত্তর কশ্নরিক্সি: 60% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
প্রে ১৪. The President of the club believes in 
the policy of making hay while the sun 
shines. 
ক) Seeking advice from one and all 
খ) Waiting for the suitable time to come 
গ) Giving bribes to get his work done 
ঘ) Making the best use of a favorable 
situation 
ঙ) Helping those who help him 
সক্সিক উত্তর: ঘ) Making the best use of a 
favorable situation 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 24%, 
ভুল উত্তরেযতয: 12%, উত্তর কশ্নরিক্সি: 62% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
প্রে ১৫. The new king did not take after his 
father. 
ক) precede 
খ) follow 
গ) run after 

ঘ) contradict 
ঙ) resemble 
সক্সিক উত্তর: ঙ) resemble 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 34%, 
ভুল উত্তরেযতয: 14%, উত্তর কশ্নরিক্সি: 51% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
প্রে ১৬. Q. 16 - 20: The underlined part of 
the following sentences may contain 
problems in grammar, sentence 
construction, word choice, and punctuation, 
Identify the option that best replaces the 
underlined portion. 
16. Princes Diana, who died at the age of 45, 
was remembered as to be a great 
personality  of all times. 
ক) Who died at the age of 45, was 
remembered as be a great personality. 
খ) Died at the age of 45, have been 
remembered as a great personality. 
গ) Who died at the age of 45, will be 
remembered being a great personality. 
ঘ) Who died at the age at 45, will be 
remembered as a great personality. 
ঙ) No correction required. 
সক্সিক উত্তর: ঘ) Who died at the age at 45, will 
be remembered as a great personality. 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 17%, 
ভুল উত্তরেযতয: 17%, উত্তর কশ্নরিক্সি: 64% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
প্রে ১৭. But for your help, I would not have 
been able to pass the exam. 
ক) that you helped me 
খ) in case you helped me 
গ) without you helping 
ঘ) If you had helped me 
ঙ) No correction required 
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সক্সিক উত্তর: ঙ) No correction required 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 9%, ভুল 
উত্তরেযতয: 34%, উত্তর কশ্নরিক্সি: 55% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
প্রে ১৮. Although the country is self-
sufficient in defence equipment, it is in 
want of peace and security. 
ক) it was to have peace an security 
খ) is possesses peace and security 
গ) is taking in peace and security 
ঘ) it wants to be in peace and security 
ঙ) No correction required. 
সক্সিক উত্তর: ঙ) No correction required. 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 6%, ভুল 
উত্তরেযতয: 26%, উত্তর কশ্নরিক্সি: 66% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
প্রে ১৯. Seeming to be the only party fighting 
for the rights of people Mr. Alamgir, a 
political leader in Dhaka joined the 
socialism party in 1999. 
ক) As 
খ) Seeming to have 
গ) Because it seemed to be 
ঘ) Since it seemed 
ঙ) No correction required. 
সক্সিক উত্তর: গ) Because it seemed to be 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 6%, ভুল 
উত্তরেযতয: 20%, উত্তর কশ্নরিক্সি: 72% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
প্রে ২০. The warden did not approve with 
the student's behaviour . 
ক) Approve with that of student's behaviour 
খ) approve about the student's behaviour 
গ) approve with that of the student 
behaviour 

ঘ) approve of the student's behaviour 
ঙ) No correction required. 
সক্সিক উত্তর: ঘ) approve of the student's 
behaviour 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 20%, 
ভুল উত্তরেযতয: 9%, উত্তর কশ্নরিক্সি: 69% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
প্রে ২১. By selling a book for Tk. 675, a seller 
loses 2/9 of his outlay, by selling it for Tk. 
810, his gain or loss percentage is - 
ক) 10% loss 
খ) 20% gain 
গ) 7% gain 
ঘ) No gain or loss 
ঙ) None 
সক্সিক উত্তর: ঙ) None 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 3%, ভুল 
উত্তরেযতয: 6%, উত্তর কশ্নরিক্সি: 89% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
প্রে ২২. The average of three numbers is P. 
If two numbers of them are R and S. What 
is the 3rd number? 
ক) P - R - S 
খ) 3R - P - R 
গ) - S + 3P + S 
ঘ) - R + 3P - S 
ঙ) None 
সক্সিক উত্তর: ঘ) - R + 3P - S 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 26%, 
ভুল উত্তরেযতয: 6%, উত্তর কশ্নরিক্সি: 66% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
প্রে ২৩. If 100 is divided into two parts in 
such a way that the sum of their reciprocals 
is 1/21, the difference between the two 
parts is - 
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ক) 30 
খ) 40 
গ) 45 
ঘ) 50 
ঙ) None 
সক্সিক উত্তর: খ) 40 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 8%, ভুল 
উত্তরেযতয: 3%, উত্তর কশ্নরিক্সি: 87% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
প্রে ২৪. Tanvir has 450 coins of 50 paisa and 
500 coins of 1 Tk. If he gives 46% of 50 
paisa coins and 54% of 1 Tk. coins his 
brother, the amount of money remaining 
with Tanvir will be - 
ক) 416.5 
খ) 414.5 
গ) 313.5 
ঘ) 301.5 
ঙ) None 
সক্সিক উত্তর: ঙ) None 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 11%, 
ভুল উত্তরেযতয: 5%, উত্তর কশ্নরিক্সি: 83% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
প্রে ২৫. Of three consecutive even numbers, 
the sum of the 1st and 2nd is 166. The sum 
of the 2nd and 3rd is 170 and the sum of 
the 3rd and twice of 1st is 250. The second 
number is - 
ক) 78 
খ) 82 
গ) 86 
ঘ) 88 
ঙ) None 
সক্সিক উত্তর: ঙ) None 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 12%, 
ভুল উত্তরেযতয: 5%, উত্তর কশ্নরিক্সি: 81% 

ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
প্রে ২৬. A bus travels a distance of 315 km 
at a uniform speed. If the speed of the bus 
were 90% of the original speed, it would 
have taken 2.5 hours more to cover the 
same distance. The original speed was- 
ক) 14 Km/hour 
খ) 13 Km/hour 
গ) 12.6 Km/hour 
ঘ) 11.6 Km/hour 
ঙ) None 
সক্সিক উত্তর: ক) 14 Km/hour 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 5%, ভুল 
উত্তরেযতয: 5%, উত্তর কশ্নরিক্সি: 89% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
প্রে ২৭. A bike traveled twice a many kms 
from X to Y as it did from Y to Z. From X 
to Y, the bike averaged 16 Km/gallon and 
from Y to Z, the bike averaged 24 
Km/gallon. What is the average Km/gallon 
that the bike achieved on its trip from X 
through Y to Z? 
ক) 28.8 
খ) 32 
গ) 36.8 
ঘ) 48 
ঙ) None 
সক্সিক উত্তর: ঙ) None 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 1%, ভুল 
উত্তরেযতয: 3%, উত্তর কশ্নরিক্সি: 94% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
প্রে ২৮. The output of a glass factory was 
increased by 12% to keep up with the rising 
demand. Later, this new output was 
increased by another 25%, By approximately 
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what percentage would the output now 
have to be decresed in order to restore to 
the original output? 
ক) 28.6% 
খ) 24.7% 
গ) 32.8% 
ঘ) 40% 
ঙ) None 
সক্সিক উত্তর: ক) 28.6% 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 3%, ভুল 
উত্তরেযতয: 10%, উত্তর কশ্নরিক্সি: 86% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
প্রে ২৯. A forester wants to plant 66 coconut 
trees, 88 date trees and 110 plum trees in 
equal sized rows (in terms of number of 
tress). Also he wants to make distinct rows 
of trees (i.e only one type of trees in one 
row). What is the minimum number of rows 
required? 
ক) 12 
খ) 22 
গ) 11 
ঘ) 24 
ঙ) None 
সক্সিক উত্তর: ক) 12 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 1%, ভুল 
উত্তরেযতয: 14%, উত্তর কশ্নরিক্সি: 83% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
প্রে ৩০. I we double a certain number and 
add 30 to it, we get the same value as four 
times that number. What is the value of 
thrice the number? 
ক) 12 
খ) 15 
গ) 30 

ঘ) 45 
ঙ) None 
সক্সিক উত্তর: ঘ) 45 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 19%, 
ভুল উত্তরেযতয: 6%, উত্তর কশ্নরিক্সি: 74% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
প্রে ৩১. Fahim's collection contains US, 
Bangladeshi and British stamps. If the ration 
of US to Bangladeshi stamps is 5 : 2 and the 
ration of Bangladeshi of British stamps is 5 : 
1, what is the ration of US to British 
stamps? 
ক) 5 : 1 
খ) 10 : 5 
গ) 15 : 2 
ঘ) 20 : 2 
ঙ) 25 : 2 
সক্সিক উত্তর: ঙ) 25 : 2 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 20%, 
ভুল উত্তরেযতয: 4%, উত্তর কশ্নরিক্সি: 74% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
প্রে ৩২. Six years ago, Anika was P times as 
old as Bulbul was. If Anika is now 17 years 
old, how old is Bulbul now in terms of P? 
ক) (11/P) + 6 
খ) (P/11) + 6 
গ) 17 - (P/6) 
ঘ) 17/P 
ঙ) 11.5P 
সক্সিক উত্তর: ক) (11/P) + 6 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 16%, 
ভুল উত্তরেযতয: 7%, উত্তর কশ্নরিক্সি: 76% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
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প্রে ৩৩. A certain animal in the zoo has 
consumed 39 pounds of food in six days. If 
it continues to eat at the same rate, in how 
many more days will its total consumption 
be 91 pounds? 
ক) 12 
খ) 11 
গ) 10 
ঘ) 9 
ঙ) 8 
সক্সিক উত্তর: ঙ) 8 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 21%, 
ভুল উত্তরেযতয: 4%, উত্তর কশ্নরিক্সি: 73% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
প্রে ৩৪. If n is even, which of the following 
cannot be odd? 
ক) n + 3 
খ) 3(n + 1) 
গ) 2(n + 3) + 3 
ঘ) n2 - 1 
ঙ) 2(n + 3) 
সক্সিক উত্তর: ঙ) 2(n + 3) 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 34%, 
ভুল উত্তরেযতয: 7%, উত্তর কশ্নরিক্সি: 57% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
প্রে ৩৫. What is the parameter of a 
rectangle that is 24 meter wide and has the 
same area as another rectangle that is 64 
meter long and 48 meter wide? 
ক) 112 meter 
খ) 152 meter 
গ) 224 meter 
ঘ) 256 meter 
ঙ) 304 meter 
সক্সিক উত্তর: ঙ) 304 meter 

Live MCQ Analytics™: সক্সিক উত্তরেযতয: 19%, 
ভুল উত্তরেযতয: 7%, উত্তর কশ্নরিক্সি: 72% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 

 
প্রে ৩৬. According to the constitution of 
Bangladesh, what is the minimum age of 
become the speaker of the parliament? 
ক) 18 year 
খ) 23 year 
গ) 25 year 
ঘ) 30 year 
ঙ) 35 year 
সক্সিক উত্তর: গ) 25 year 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 36%, 
ভুল উত্তরেযতয: 16%, উত্তর কশ্নরিক্সি: 46% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
প্রে ৩৭. When is international cooperative 
Day celebrated? 
ক) First Saturday of June 
খ) First Saturday of July 
গ) First Saturday of November 
ঘ) First Saturday of December 
ঙ) None of these 
সক্সিক উত্তর: খ) First Saturday of July 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 5%, ভুল 
উত্তরেযতয: 7%, উত্তর কশ্নরিক্সি: 87% 
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ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
প্রে ৩৮. Center of Integrated Rural 
Development for Asia and Pacific (CIRDAP) 
was established in which year? 
ক) 1978 
খ) 1979 
গ) 1980 
ঘ) 1982 
ঙ) None 
সক্সিক উত্তর: খ) 1979 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 18%, 
ভুল উত্তরেযতয: 16%, উত্তর কশ্নরিক্সি: 64% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
প্রে ৩৯. In our National Parliament, whose 
vote is known as the 'casting vote'? 
ক) Prime Minister's vote 
খ) President's vote 
গ) Chief Whip's vote 
ঘ) Speaker's vote 
ঙ) None 
সক্সিক উত্তর: ঘ) Speaker's vote 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 53%, 
ভুল উত্তরেযতয: 5%, উত্তর কশ্নরিক্সি: 41% 
ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
প্রে ৪০. Which area in an excel window 
shows the input values and formula? 
ক) Standard Toolbar 
খ) Menu Bar 
গ) Title Bar 
ঘ) Formula Bar 
ঙ) None 
সক্সিক উত্তর: ঘ) Formula Bar 
Live MCQ Analytics™: সক্সিক উত্তরেযতয: 20%, 
ভুল উত্তরেযতয: 16%, উত্তর কশ্নরিক্সি: 62% 

ব্যখ্য: এই প্রে সহ কশ্নয়ক লযখ প্রশ্নের অশ্নেিক্সিক 
ব্যখ্য ট্রেখশ্নত Live MCQ অ্যপ ইন্সিল করুি। 
 

https://livemcq.com/link/home

